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Reg. No.

11T Semester B.Com. Degree Examination, April - 2022
COMMERCE
Financial Management
(CBCS Scheme Repeaters)
Paper : 3.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answer should be completely in English or Kannada.

SECTION - A

IS
/%\Q/ﬁ?/ﬂ -

Answer any Five sub-questions each an arries 2 marks. (5%x2=10)
CIRFTTTR WD GUT-T,Z et LS0A. m 08N%0.
1. a) Give the meaning of Financial Management.
TEOTAT DSFBESCDTY 330,339,
b) What is wealth maximisation ?
ROy roXeTTr 0TI ?
¢) What is Time value of money ?
Beow IS0 TP, 0TI ?
d) What do you mean by operating leverage ?
socinrEoRod OEdes® Houded ?
¢) Name two principles of Financial Plan.
Beovord odneSod S0 IJrPRy BIOA.
f) What do you mean by stock dividend ?
T TR0 QOTIBEL ?
g) Sales - Rs.3,00,000 Variable cost - Rs.1,00,000 Calculate contribution.

Snooed - Rs.3,00,000 woeonrds 8B, - Rs.1,00,000 Spmdriodhad) $ordhiEo0.
[P.T.O.
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SECTION - B
RN - 0
II  Answer any Three of the following. Each answer carries 6 marks. (3%x6=18)

CIRIJmorde SR T, Inon ev3ds. T LVZTT 6 LoBNLL.

2.

3.

4,

Mention the ﬁmctlons of Fmancnal Managemem

TEITAT ATFBEBOD TODFNVED) BIOR.

What are the different mvestmenl evaluation methods ?

TRRE P8 INET DENYI, E9A.

Suresh & Co., is considering the purchase of a machine. Two Machine X &
Y costing Rs.1,00,000 are available. Cash inflows are expected to be as
under. Calculate PBP. [Pay Back Period].

Year Machine X Machine Y
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000

o:ao:saw 0BT WORFDET. obod, X D
é 00 OOO INTD wWITOPH) S F9n03 ~0e6~oam3

AT DD FoTD
o3, Y 0@ oo ne
&cmae e::SQc:baﬁa iowb@

S o038, X "Bq,(P o¥03, Y
I 30,000 ¥ 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000

Calcualte the future value at the end of Five years of the following series
of payments at 10% rate of interest:

Rs. 4,000 at the end of 1* year

Rs. 5,000 at the end of 2™ year

Rs. 6,000 at the end of 3™ year

Rs. 7,000 at the end of 4" year

Rs. 8,000 at the end of 5" year

3 NS 3o RSN, [y IS FFobY, eIz 10 WG RISATT, T
SRFNY PRIQDY, ez:Sd e;:&)a‘d ab‘ae) socebao@omo

Rs. 4,000 aﬁadvéoﬁ: ST L0, dO

Rs. 5,000 2083 sS=mqa ©03, d@

Rs. 6,000 ancdcd IRFS 03 LSQ,

Rs. 7,000 sogscd S=Fa &0, do

Rs. 8,000 aoddcw TJFT &0, cso
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6. From the following information calculate operating, financial and combined
leverages.

Sales Rs. 5,00,000, Variable cost 30%, Fixed cost Rs.1,00,000, Interest
Rs.75,000 and Tax rate is 50%.
gort im%doas 03¢ BOBNVOT FCINFICE TeavoDd D Moodeen dasdezs'mag‘
FOTO&HABOWD.
SRo28 Rs. 5,00,000, wdoors Szi 30%, AT 523, Rs.1,00,000, W& Rs.75,000
D 301 T 50%
SECTION - C
g - A :
IIT Answer any Three questions,.each answer carries 14 marks. (3x14=42)
CIRPYTowde e TINOR evZon. T3 erugd!i 14 es08nsh.
7. Explain. in detail @ Is of Financial Management.
TEOTOR ATFBROD AEAFT, BOTTTN DTOA.
8. What is dividend decisions ? in the determinants of dividend policy.
TOI0T QEIF D DOTTe 2 mm§ zﬁjﬁd e Tomos Wedhs eosnm
WA

9. Mahesh Ltd. Co., has equity share capital for Rs.500000 divided into shares
of Rs.100 each. It wishes to raise further Rs.300000 for expansion plans.
The company plans the following finding schemes:

a) All equity shares
b) Rs.1,00,000 in equity shares and Rs.200,000 in debt @ 10% p.a.
¢) All debt at 10% p.a.

The company has estimated EBIT at Rs.1,50,000. The Corporate Rate of tax
in 50%. Calculate EPS in each case. Give a comment as to which capital

structure is suitable.

RTeB VoD FoTRoD REIRT, Bedh oy Rs.100 8 30D Besod Rs.500000
NYINTIT. FomRod 33 Yo odressmon Rs.300000 nvs) TuEen QURIS.
S FPFoE2 TeoTors as‘q;éabafgt cdrexs.

a) QP AR, Jedh

b) TORRT, Be0FY, Rs.1,00,000 D Be.10 © AOTE,TY, Rs.200,000

¢) QO Ze. 10 T WO TG0,

gozRad EBIS Rs.1,50,000 somdoedy 2or oo 3e.50 2nd T3 Jeos K@iobaig‘

(EPS) d%;mﬁ D) oIRs wordsey TS AIFTONT 0D T Jed. - [PT.O
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10. The capital structure of ABC Ltd. consists of an Equity Share capital of
Rs.20,00,000. (shares of Rs.10 each) and Rs.20,00,000 5% debentures.
Sales increased by 25% term 400000 units to 500000 units. Selling price is
Rs.10 per unit. Variable cost Rs.6 per unit and fixed cost amounts Rs.5,00,000.
Income tax rate is 30%. You are required to calculate.

1) The degree of Financial Leverage 400,000 units and 5,00,000 units

2) The degreee of Operating Leverage 400,000 units 5,00,000 units
ABC %o wodmo¢ Rs.20,00,000 (I8 &0 23S Rs.10) == Rs.20,00,000,
5% mOTZND, SRos JIE 25% T, BN, 2305338 400000 PEBMLOT
500000 Dugnen o8 Spoow B8 Rs.10 p.u. WIS 33, Rs.6 p.u. AT =,
Rs.5,00,000. eszocd 307t 383 30% FomORABCWD.

1) Teswoas O=Se® 400,000 PLsnon 5,00.000 spaEnen

2) wocdnruos Owdes® 400,000 sugnen 5,00,000 spusnen.

11. A company is copsidering two projects, Project X, and Project Y are
available each cos%.]OOOOO. Cash in flow are expected to be follows.

Year roject X Project Y Discount Factor
@ 10%

1 50@!‘}4 30000 0.909

2 60000 Q) 50000 0.826

3 70000 60000 0.751

4 50000 80000 0.683

5 40000 60000 0.621

Calculate:- (a) Pay Back Period (b) Net present value @ 10% discount rete.
2,00 FoBRCIN IF, STR> odnend, cdnend X, [OX odrexs Y wodmed S¥FpN
Toned3y. X3 cdrend 5%, Rs.100000 &ATOSE.

2E0 IR wIBOR) B FWEoEOS abetxmnd.

SHFND odeesd X cleend Y DodRoDS ©oZ
@ 10%

1 50000 30000 0.909

2 60000 50000 0.826

3 70000 60000 0.751

4 50000 80000 0.683

5 40000 60000 0.621

(a) boosE ©[Y (b) ISE T3 IR, 3¢.10% FORBIHABOWD.




